INI x> T-BADE=HN 41|
F #2 BaEr ( )

RDEIZkgBEMUTELI L L I,

(1) lkg 329g = kg (6) 8kg 948g = kg
(2) kg 3099 = K9 (7) 2kg 4699 = K9
(3) 579 = Kg (8) T760g = K9
(4) 3kg 6g = kg (9) 6kg 5599 = kg
(5) 385g = K9 (10) 89 = kg
RODEIZmBEMATERLEL LD,

(1) Im 2lcm = m (6) 5cm = m
(2) 12m 95cm = m (7)  40cm = m
(3) 8m 22cm = m (8) Im 63cm = m
(4) Im 52cm = m (9) 98m = m
(5) 97cm = m (10) 3m 57cm = m
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RDEIZkgBEMUTELI L L I,

(1) lkg 3299 = 1.329 kg (6) 8kg 9489 = 8.948 kg
(2) Ikg 3099 = 1.309 kg (7) 2kg 4699 = 2.469 kg
(3) 579 = 0.057 kg (8) 1T60g = 0.76 kg
(4) 3kg 6g = 3.006 kg (9) 6kg 5599 = 6.559 kg
(5) 389 = 0.385 kg (10) 39 = 0.008 kg
RODEIZmBEMATERLEL LD,

(1) Im2lem = 1.2 m (6) 5cm = 0.05 m
(2) 12m 95¢cm = 12.95 m (7 40cm = 0.4 m
(3) 8m 22cm = 8.22 m (8 Im 63cm = .63 m
(4) Im 52cm = [.52 m (9 98m = 0.98 m
5) 97cm = 0.97 m (10) 3m 57cm = 3.57 m
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